
Copyright © 2018 .com

To solve a Sudoku puzzle, place a number into each box so that each row
across, each column down, and each small 9-box square within the larger
diagram (there are 9 of these) will contain every number from 1 through 9.
In other words, no number will appear more than once in any row, column,
or smaller 9-box square. Working with the numbers already given as a
guide, complete each diagram with the missing numbers that will lead to the
correct solution.

  8 2  3  5 1
  5 7      
1 4   8    3
 8 3 4   5   
 9  6 3 2  8  
  1   9 2 3  
4    9   7 6
     6 4   
7 3  1  4 8   

TM

Solution is on the next page
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SUDOKU
SOLUTION

9 6 8 2 4 3 7 5 1
3 2 5 7 6 1 9 4 8
1 4 7 9 8 5 6 2 3
2 8 3 4 1 7 5 6 9
5 9 4 6 3 2 1 8 7
6 7 1 8 5 9 2 3 4
4 1 2 5 9 8 3 7 6
8 5 9 3 7 6 4 1 2
7 3 6 1 2 4 8 9 5
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